10.07.2017 POSEIDON 2 | Oficjalna witryna Nilfisk

https://www.nilfisk.com/pl-pl/products/Pages/schematic.aspx?pid=126134342&EzPID=24558623003259&15=306105019702947780&toPrint=true 1/6



10.07.2017

POSEIDON 2 | Oficjalna witryna Nilfisk

Pos. PI:IoudnJEEU ilos¢ Opis Polska (PLN)

1 6524042 FAN P406 14.18

2 128332334 RACK FOR MOTOR 17.62

3 6528575 WOBBLE DISC JP 50HZ SPARE PART 408.56
3 6528585 KRZYWKA 120.12
3 6528576 WOBBLE DISC JP 60HZ 370.73
4 1119705 ZESTAW NAPRAWCZY 156.57
5 6528594 MOTOR 230V 50HZ 3.3KW 1545.69
5 6528603 MOTOR 100V 50HZ 1627.74
5 128500257 1.3KW 60HZ MOTOR SP 1549.11
5 6528593 MOTOR 230-240V 50HZ 2.9KW 1529.51
6 6526016 PISTON STAINLESS REP. KIT 52.36

6 6528577 PISTON.CERAMIC REP.KIT 121.43
7 3003654 O-RING 17.09

https://www.nilfisk.com/pl-pl/products/Pages/schematic.aspx?pid=126134342&EzPID=24558623003259&I5=306105019702947780&toPrint=true

2/6



10.07.2017

10

11

12

13

14

15

16

17

18

19

20

21

127440029

3001393

6526018

6528602

6526026

6528586

6528616

1814597

6528578

3821991

3004082

6528598

6528579

126528629

1

POSEIDON 2 | Oficjalna witryna Nilfisk

CYLINDERBLOCK COMPLETE

O-RING 17.13X2.62 NITRIL 90 SH

ZESTAW USZCZELNIEN

REP-KIT SEALING SYSTEM

ZESTAW NAPRAWCZY

PLUG WITH O-RING

REP-KIT CYLINDER HEAD PLUS 0.3

CYLINDER SCREW M8X70 DIN 912-8.8 ZN

MICROSWITCH BOX COMPLETE

MICROSWITCH WORKED P12476

O-RING 11.6x2.4 SMS 1586 EPDM70

KOREK Z O-RING

SLIDING PLATE

ZAWOR

https://www.nilfisk.com/pl-pl/products/Pages/schematic.aspx?pid=126134342&EzP1D=24558623003259&15=306105019702947780&toPrint=true

181.16

2.16

59.51

110.43

40.40

23.04

388.24

2.16

31.56

24.86

2.16

23.60

13.06

177.31

3/6



10.07.2017

21

22

23

24

25

26

27

28

29

30

31

32

33

34

126528630

1814740

2602522

1800440

6528459

33158

1800705

6528423

6528581

6528458

6528599

128500183

6528600

6528614

POSEIDON 2 | Oficjalna witryna Nilfisk

VALVE PISTON COMPLETE
SCREW M6X65

SPRING F. ACTIVATOR ARM P12476
WASHER -1101320 -1103440
DISTANCE PIECE

LOCK NUT M6 A2 DIN 985

NUT M6 ISO 4032

ACTIVATOR PIN

ACTIVATOR ARM

LOCK BRACKET

PLUG WITH O-RING

ZAWOR

PLUG COMPLETE

INJECTOR RED COMPLETE

https://www.nilfisk.com/pl-pl/products/Pages/schematic.aspx?pid=126134342&EzP1D=24558623003259&15=306105019702947780&toPrint=true

184.39

2.16

2.16

2.06

7.58

2.06

2.06

11.85

90.70

8.76

13.59

46.00

17.78

38.74

4/6



10.07.2017

34

35

38A

38B

39

40

41

42

42A

43

44

45

46

a7

6528587

6528574

6528615

6124314

1814679

106408241

6528582

6528558

6181542

6528583

127500075

3004304

6525619

6528544

POSEIDON 2 | Oficjalna witryna Nilfisk

INZEKTOR

WATER FILTER COMPLETE

OPASKA WEZA

REGULATOR WYPLYWU DETERGENTU
HOSE CLIP R12

HOSE PVC 1/4INCH TRANSPARENT - 2 METERS
VALVE HOUSING STANDARD
PRESSURE METER TUBE COMPLETE
PLUG F. PRESSURE GAUGE

VALVE HOUSING X-TRA

X-TRA HOSE

O-RING 5.1X1.6 VITON SH 90

LOCK BRACKET. SMALL

LOCK BRACKET

https://www.nilfisk.com/pl-pl/products/Pages/schematic.aspx?pid=126134342&EzP1D=24558623003259&15=306105019702947780&toPrint=true

25.37

14.93

63.44

73.96

3.02

37.06

488.37

86.29

6.68

489.20

94.73

2.03

8.01

5.45

5/6



10.07.2017 POSEIDON 2 | Oficjalna witryna Nilfisk

48 6528461 1 CROSS PIN 3.52
49 7180924 4 BOLEC 145 MM 3.79
50 123004374 1 O-RING 5.28 X 1.78 PUR SH 93 9.43

https://www.nilfisk.com/pl-pl/products/Pages/schematic.aspx?pid=126134342&EzPID=24558623003259&I5=306105019702947780&toPrint=true 6/6



